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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I

3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec |

2500 ,
2000 !
1

1

1500 |
1

1

1000 I
1

500 Warning: col [ EcFgro’, 'EcPltng'] is missing

0 25 50 75 100 125 150 175
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Plot Sensor and FgRec Data
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10:05 273 150.0 5| {Ri%@10:05 B3 (RAERSE)
10:50 273 150.0 El 1BRi%010:50 Bz GGRAEREE)
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13:45 273 150. 0 El BRi&e13:45 Bz CGRAEREE)
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P3-5

BrE) | GEBAK (3 | ERE (EH/R) (XS R

06:55 278 150. 0 FH| 1RRi&%@06:55 B (FRFAEESE)
07:45 278 150.0 [ =| 1BRi&e07:45 Bzh (REERSE)
08:55 278 150.0 [ =| 1BRig@08:55 Bzh (KAL)
09:50 278 150.0 [ =| {Ri%e09:50 B (RS
10:55 278 150.0 (& =| 1BiB@10:55 Bzh (REEREE)
11:45 278 150.0 | =| 1Rige11:45 Bz (RAEREE)
12:30 278 150.0 [Z=| 1BRige12:30 Bzh (REERESE)
13:25 278 150.0 PH| {Ri%e13:25 B (RAERESE)
14:20 278 150.0 FA| {Ri%@14:20 Bz (GGRAEREE)
15:10 278 150. 0 FE| 1Ri&@15:10 Bz (RFAERESE)
16:05 278 150.0 FA| 1Bi&@16:05 B3 (KRAFEREE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

##[EKECE (2080.0 vs 3237.0) RS
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P3-5

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS R

06:40 278 150.0 & =| 1Ri%e06:40 Bz (kBIEREE)
07:40 278 150.0 (& =| (Ri%@07:40 Bz (REERSE)
08:40 278 150.0 (&£ =| {Ri%e08:40 Bz (REAHERESE)
10:20 278 150.0 FA| {Ri%@10:20 Bz (RAEEEE)
12:10 278 150.0 PRl {Ri%e@12:10 Bzl (GRAEEE)
13:55 2178 150.0 FH| 1RRi%@13:55 Bz (KRAERES)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2040.0 vs 3363.0) i d 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=54 (2025-05-22)
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